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The same rule is even if he did not become sighted again, etc.

Overview

The X m3 concluded that a sighted person (who received the v as a mhw), who
became blind afterwards can deliver the v and say 1"521 2n21 °192, even if he did
not regain his sight. Mo0In reconciles our X3 with a seemingly contradictory
N4,

mooIn anticipates a difficulty:
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And this which the Xn»92 states in 12m1 @ P9 -
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‘he knew testimony for him before he became blind and he became blind later,

he is 105 to testify’ (unless he regains his sight); so why here is he 7w3 even if he did not
regain his sight?

mooIn responds:
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Here it is different, for by a v even a woman is believed to bring a v and say 1"91
1"923, even though a woman is M7y 9109 —

mdoINn proves his point:
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You should know that it is so that we are lenient by w1 oW, for even regarding
one who was blind initially when he received the v, the X723 here asked, but

why is a R»10 not “w> to deliver the v3, proving that we are lenient by a Xm0 as we are lenient
by an 7wX.

Summary

! See the w"x71 Moo who adds; XAN01 XYW 79 AR T57 5V 7YY 1°OR MITY 17 939 YAWH and MYy 2100 RPN
The saying of onm1 *1921 2021 °192 by a 7w is like a N7Y N7, so it should have the same ruling as M7y N7
' We are not that strict by vx1 2w as we are by other M7y n7a7, therefore even though he is blind, it is Tw>.
? Mpon is seeking to prove that we are not only lenient regarding an 7wX, but that we are also lenient regarding a
X110,
* How can the X3 ask, XY *XnR Xm0 X9X, when we know that a Xm0 is m7TvY 9109, this proves that the X3
understood (even initially) that regarding the M7y n7a7 of a VAT MW we not as strict as regular M7V NN, See
‘Thinking it over’.
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The M7v N7 of L7 W is less strict than regular M7y 77 therefore a XNo1 MIND
is w3 even if nNONI T RY.

Thinking it over
mooIN proves that we are less strict by vai 2w from the fact that the X 13 initially

asked X% *Xnx ®m10 x2x.> However at that point in the X713 we did not assume that
we are discussing a v mow in 2" where he is required to say 1"921 1"93, we
assumed we are discussing a >"X2 v3, where no M7V N737 is required, and therefore
the Xna rightfully asked X7 *XnKk 8110 X2X; how does this prove anything regarding
M7y N7 of 1523 1"02?!1°

3 See footnote # 4.
6 See 7907 w19 WX # 97-100.
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